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L. 7 mwn: consequences of NNTa X5W NN on Naw
a. If:- he had two babies to circumcise — one on ® Dy and one on naw and he circumcised the wrong one
i Then: he is liable (for nman — the baby was only 7 days old)
b. If: he had 2 babies to circumcise; one on v”y and one on naw and he circumcised the wrong one
i 5K /7. he is liable
ii. pw1ip “1. he is exempt (Mxn MW MXN 7272 NYV)
1. Dispute 8117 27/71777 27 about wording of mwn — about which case was there consensus
a. &1 ’7. (as per our reading) — following 8”"awv’s report of the dispute
i 71258 7. just like 1" (the model); prohibited and if he violates — liabel
ii. ywi 1. unlike 1y — here, he fulfilled a mxn
b. A7 27 (per n™'s reading of the np1ynn) consensus about 704 for circumcising 9-day old on naw
i. Dispute: about case of circumcising 7-day old on naw
ii. 71975K /7. just like 1"y — he violated law (w/o fulfilling n¥n) andis liable
iii. ywip “1. unlike 1"p; in this case, he was engaged in trying to fulfill a mxn
c.  Note: alternate version of n”1’s read of dispute was taught
i. Consensus: if he circumcised 9-day old on naw — he is liable
ii. Dispute: if he circumcised 7-day old on naw; 8" finds for 2vn and ywin’ "1 exempts
1. Challenge: how could yw1i1» 1 exempt here (when no mxn was done) when he finds liable in xw»?
2. Answer (’K22 77 227): in 1st case, he had already done naw-baby on v”y — no reason to do any n’n on naw
a. But:in 2" case, he hadn’t yet done n5n — so naw was still “available” (but he mixed them up)

i. Challenge (83712 775 »wx 77): in 1t case, n2w was available for other babies
ii. Defense: but in that case, neither of these babies was “available” for n»n on naw
II.  n nwn: latest possible n»a for a (healthy) boy — from 8-12 days
8: if normal

a.
b.  9:if born mwnwn 123, he will be circumcised on what may be his 9t day
c. 10:if born mwnwn 1 entering naw; he may be a 10-day old on X 0 when circumcised
d. 11:if born mwnwn 1 entering v”y and the next v”y is 2110 DV — circumcised on the following ' Dy
e. 12:if born v”"na entering 'n 0y and the next n Y and v"y are the 2 days of n"; circumcised on the '8 ny after
f.  Note: if he is sick, we do not perform n%n until he becomes healthy
i. o810 when his fever leaves, we give him 7 days before doing n>mn
1. Question: does that mean 168 hours (»">»n) or immediately on 8" day
2. Suggested solution: R taught “his day of health is like his day of birth”
a. Assumption: just as 8" day from birth is 15133 D10 n¥pn, so too with his recovery
b. Rejection: he meant that nk11n Dy is greater than his day of birth — we require 7 full days
II. y mwn: details of nn
a.  pyywhich are indispensable (mentioned above): if it covers most of the “crown” (27 — most of height of crown)
i. In that case: he may not eat nmn (considered 57y)
ii.  And if he was fat (and appears to be Y1), it is “fixed” to avoid Pyn norIn
1. Swpw. if he was seen to be )11 when erect — no “fix” needed
2. 27aw7(in ¥n2273): if he was not seen to be 5nn when erect, then “fix” needed
a. Difference between them: if not clearly seen to be 5nn when erect (Y1 would require it, 3”21 not)
b. 9 if non is done without pulling the skin back, as if n'n never took place
IV. mmnarecited at n12 (from »-1:1 mM372 ®RNavIN)
a. a2 for Ymn (Mnxnn n11), for father (Y021391Y) and the response of those assembled (D210 DYWYN...0VI)
i. Then: na1a afterwards — "n»an N M"RA..TT VTP TWUR”
b. m7x circumcising D™ (same n372 for YMn; T1an says ”...0N NR YN 17"apR” and concludes w/ v. 1, man nnd
C. 32 circumcisin 0772y (same as 07, substituting “n»72y” for “073” in longer n72)
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